No.

LT 4 —3I 7 A hayr Y — NS EEE
s 20244 4H 1H
P i
R ERRAS
S BT S THARESERTREI 6 7 8 il
TEL (0823) 45—5199
FAX (0823) 45—5192
BLAEtmE4  ER
T F 4 W
3} 1£ Hh
WA T OE B
A 1 H]
V)Y =b DFTIA L P
Aic & ) B4 &t ES 1
27 U—RO O 2777 Xd27/7 Te= | RUBM O KSHE | v b ORI
SO 5| FEFHIC K DAL — cm mm WX DR
S Gi] 24 12 20 BB
%Eﬁzf > b o fEE IO L FE HLoH M o & K T IO ML FE R
P , S L |~ =1 7’/1/7’J)/)7‘J}iﬁl31313
%O T M o & E i RSB L2 FEEL W H kD H U b) _

BTN SRC KB AR B I GRS RE)) - OBNAEE & — kg/md
K o X B[ GHMEMCEE (o2 U — ol g —C
TE AT [IRANA O TEER K OV it | A BE & OVC & 2R A Rl k' A > b B> BAREO EIR 55 %
SEME v B & F R 0.30ke/mi — |HLRL AT D H B fALO L — ke/ni
T FEOVRE 2 RAET D M 28 H |#fivhE0 BEEO FRULEEED ER — ke/md

zz = & 4.5 %| B DA T v T KE — cm

fifi i M £Eoc)
v A v REFEH 4 af%mxpwmvﬁw: (%% g/ci | 3.02 NaOeq % )] —
B Oy % - T s | — |NasOeq -
R L 220 A — T — B g/ci — % e) —
1 5 y - TRVIBUREIC L ARS £) PRI D K & SRR T | B g/ad |0k ED
o] B MR R A ik ol o) b 6 W% i)
#O i Tab JE I W LT TR AT P A0 1072 | A 215 0~ 5mm 2.80 |2.53|2.57 —
(@) - — - — — - - | - -
el — - - - - -1~ -
@D 2005 H1 H R SEARAR AR 5 BT I AN H NV 3—]E5.0~20.0 | 61.0 |2.67|2.69| 1.0+1.0
IE'1® 7 _ — 7 _ 7 _ _ 7
H @ _ _ _ _ _ _ _ _ _
5@ — — — — — — — | = —
RF O 74 V80 AEJKF (BEETE 1 ) N0 o 0.5
TR AI Q)] 4 - T - o [ =
e — ? —
B ORI E K] — %k@E\DMTK HEERT vy [EFEY5E m)| - %
BISCE R O En) M B ] — BB M — LZEILAT v OKOBHD A -
i A&  #Fo) ke/md
. RO H B 1zl L B 1z B Alp)

+

s Toe l XlToTeo e oTe (el O @ 0

307 — — 166 | 758 | — — 1054 | — — — | 3.07 — —

102 — 166 | 295 — 1392 | — — —
mﬁf/wtq) M%ﬁ*#AMm ) — %M B KM g 42.9 %
s BHOERRAHAY), BRADEREIOVTE, WA LIEETARANSS, | BMIES L

VA7 2—hRi
7Y —hrHOT

Thb, Ei, 27 v VEMSFEE 1 %Kil T

TR 2 A,

“1 %A

LA D,

j/Y’%ﬂ\ UK EM LR UK E A > MO 2 TLAT 5.
)




Bl & 5 B E
Aic = D B4 it ES Gs
=Y ESRN) N 277 XATATV7 Tn—- B M O K~THE AN OFESA
WOk g | IS & B R - cm mm (AT
RSt 24 12 20 BB
FEEETE |W/C=55% AIR=4. 5% ¥ iH28 H
(1) Zdfri(v) YTHOEREICEY v = 10 %
(2) Bl A58 (m)
al= . 053'805,V = 1.214 a2 = . 13.0,\/ = 1.209
100 1004/ 3
m = a1 X SL = 1.214 X 24 = 29.2 N/mf
YoT m = 29.2 Nmt
(3)/kEA L FEE(W/C) m = -15.5 + 24.2 X C/W
W/C = 24.2 = (29.2 + 15.5) X 100 = 54 % = [55%(LBE1 )]
"W/C = %
(4) BALKE (W) YT OERIC ot@ W = 166 ke /mi
(5)HpNrE A FE(C) C =W =+~ (W/C) X 100 = 166 — 54 X 100 = 307 ke/m
Cv= C =+ #JF = 307 =~ 3.02 = 102 2 /m
(6) 2246 (A) A = 4.5 % X 1000 = 45 ¢ /m
(TEBEMHEME(G) HTHOFERKICLY EFFE = 0.642 m/m EFER = 61.0 %
Gv = 0.642 X 1000 X 61.0 = 100 = 392 2 /ot
G = Gv X R = 392 X 2.69 = 1054 kg/m
(8) HALMIEH & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 705 = 295 2 /m
S = Sy X FEWIEEEE = 295 X 2.57 = 758 kg/mi
(9)MEA = (s /a) s/a = Sv = (Gv+Sv) X 100 = 42.9 %
(10) BALIEFAIE (Ad) Ad = C X WINE X HBE = 307 X 1.0000 % X 1.00 = 3.07 ke/m
i A& £ ke /mi
. = S} gt ' iz HL ' 7 % fn vl
et Te 1 X oo e 0o 0ol 0 © 0
307 — — 166 | 758 — — 11054 | — — — 3.07 — —
102 — — 166 | 295 — — 392/\ — — —
P= NT= AN
KEAY RH| B4% M B B S| 42,9 o MRS

1+




